X% 13"7 '0n 2,2 7" 7"02

— £33 125 KT 1PROINM RO
Shall we say that our 712% is not according to o121 32!?

OVERVIEW

D11 72 maintains in the case of a 10pd H¥ 1M that we cannot administer the
oath to the *11m (that he paid the worker) and to the worker (that the "1 did
not pay him) for we are causing one of them to swear falsely. This seems to
contradict our mwn where each one claims that the entire n°%v is exclusively
his and nevertheless we administer an oath to both parties, seemingly
causing one of them to swear falsely. The X713 replied that the cases are not
similar for by 011 12 there is certainly a X2 n¥12w; however in our 7wn it is
possible that they both picked it up together and therefore their respective
oaths of %¥m» nId 72 1% PRY are true. This answer seems so obvious that
mMooin finds it necessary to explain why initially the X773 suspected that there
may be a contradiction between 011 12 and our 71wn.
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It is possible to assume that the X773 did indeed know that the case of our
mwn 1s different from the case of 011 32, since in our 7w»n there is the

possibility that both litigants picked up the n°%v simultaneously and
therefore (in that case) there will be no XWw ny2w (as opposed to the case of 011 12 when
there is always a X n¥2aw) -
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And despite knowing of this possibility, the X7n3 still challenges that they
should divide without a 72w, since there is also the possibility that it
will result in taking a false oath (in [most of] those cases where they did not pick it

up together) -
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' See ‘Overview’.

2 [Perhaps the questioner assumed that 011 12 is reluctant to administer an oath (even) if there is (only) a
[distinct] possibility that it may result in a X% n¥12aw. The 13127 (who argue on 0311 12) rule that both the *1117
and the worker must swear in order to collect. The purpose of this oath (may be) that the one who is lying
will admit to the truth and not swear falsely. Why then does 011 72 disagree with the 1127, since there is the
possibility that there will be no X nyaw!? This seemingly proves that according to 031 72 even the
possibility of a X1 n¥12aw is sufficient to prevent administering an oath. Therefore in our 71w also, if there
is a possibility of X1 nyaw they should rather divide without a 7¥12w.] See ‘Thinking it over’. See: 7"nR #
214 and w5 MR (y°212211p n">72) My oR°2 for alternate explanations.

? The emphasis of the answer is not on M2 777 772 %170 for we are already aware of that possibility,
but rather that by 011 72 there is a X% nY12W X7
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And the X773 answered that there by 011 12 there is a certainty of a nyuaw

‘N (and therefore 011 72 prohibits it), however when there is merely the possibility of a
XWw ny1aw, and there exists [as well] the possibility that it will not be a X ny1aw, then
even 011 12 will agree that we administer the oath.

SUMMARY

Initially the X713 assumed that even if there is possibility of 1w ny1aw, then
011 12 will oppose it. The &3 concluded that 011 72 is against a X1 DY2Y RN
only, but not a X1 nY12W poO.

THINKING IT OVER

According to n1voIN, the X713 seems to be asking that there should be no
712w administered in our mMWwn (according to 011 j3), since there is a
possibility of a X nyaw.” If we are to follow this logic, then how can we
ever administer a 7v12w; there is always the possibility that it is a nyaw
xw!2°

* By 011 12 if we follow through with the ruling and administer the oath to both parties, there will certainly
be a X\ n1aw; however by N*2u even if they both take the oath there still remains the possibility that it will
not be a X1 Ny2w.

> See footnote # 2.

6 See 717 7> and TP NIX 7"270.
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